Series. 402

SIMBOLI pag.

SNy TT2 20 A0
FISSARE D110p V 40' Y‘jn

w| o n"n 200

Z - - CUSCINETTO

9 ] WHEEL V GROOVE 1

1 BEARING

2

m — — | Komneco V Beipes 1
HOIIHITHAK

60 kg. 1 M8x30 16 233 12 12 40
80 kg. 1 M8x30 16 @39 13 12 50
100 kg. 1 M10x45 24 246 17 12 60
190 kg. Ser. 906 1 M14x70 33 252 20 6 70
200 kg. Ser. 906 1 M14x70 33 262 20 6 80
210 kg. Ser. 906 1 M14x70 33 @72 21 6 90
230 kg. Ser. 906 1 M14x70 33 282 21 6 100
250 kg. Ser. 906 1 M14x70 33 2100 24 4 120
280 kg. Ser. 906 1 M16x70 43 2118 25 4 140
300 kg. Ser. 906 1 M16x70 43 2138 25 2 160
340 kg. Ser. 906 1 M16x70 43 2178 25 2 200




